CSO Chalmers MICs

J. W. Kooi, 17 Feb 2011

Case is
Rtn

Vgl vd2

Microtech: MDP-4S-1
(on MIC body, looking INTO the LNA)

Tie Vd1/Vd2 and Vgl1/ Vg2 together at connector.
Solder return wire to the male connector sleeve.
- 3 wires: Vd, Vg, Rtn

Microtech:

Barney settings of 1/30/2006:
CTH-6HO9

Vd=0.8V
Id=10mA
Vg=+0.1V (approx)
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Chalmers MIC, 300K (30 Jan 2006)

[Barney has CTH-6H09]
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Bp1:
Wi=0.8v
[d=10.0rmA
Wil=0.188V
[g1=0.00A

Wi2=2 48V
Pdc=4rmStage
Tawg=1.69k

40
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CSO MMIC
J. W. Kooi, 17 Feb 2011

Barney settings of 1/30/2006:

MMIC-28B
Vd=1.2V
| I I I HH8020-4P-100R-520R-02 Id=15mA
c - Mating Connector: Vg: +O6V (apprOX)
£ % ¥ I Digikey# ED90270-ND

\ | 2mm pitch connector

Tie Vg1/Vg2 together at connector
- 3 wires: Vd, Vg, Rtn
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Caltech MMIC, 300K (30 Jan 2006)

[Barney has MMIC-28B]

Input Return Loss dBS11 at 300K
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